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Test Your Skills 
Co-ordinate Geometry 

Time = 30 Minutes  

1.  If the distance between point  A(a,0)  and point P(x, y)  

is  a x  then 
2y ?  

(a) 2ax               (b) 4ax         (c) 6ax          (d) 8ax  

2.  If point (x, y)  is at equal distance from point  

(a b, b a)   and point   (a b,a b)  , then  bx ?  

 (a) 
2a y   (b) 

2ay   

(c) ay  (d) 
2 2a y  

3.  P( 4,a)  and  Q(2,a 4)  are two points, and coordinate 

of mid point of  PQ  is  ( 1, 4) , then find the value of a.   

 (a) 0             (b) 2           (c) –2                   (d) 3  

4. If point P(2,3),Q(5,a)  and  R(6,7)  are collinear points 

find the value of a.   

 (a) 5/2          (b) – 4/3           (c) 6                (d) 5  

5.  The equation of the straight line passing through the 

point ( 6, 5)   parallel to x-axis is   

 (a) y 5    (b) x=-6  

 (b) y= –5 x  (d) y= –6x –5  

6.  The equation of straight line passing through the point 

y   (2, 5)  and parallel to y-axis is   

 (a) x=2  (b) y=–5  

 (c) y=2x  (d) x=–5y  

7.  In  PQR  coordinate of vertex P and Q are  P( 1,0) and  

Q(5, 2) and co-ordinate of centroid is (4,0)   

(a) (8, -2)                                 (b) 8,2)  

 (c) (-8,2)                                  (d) (-8,-2)  

  

8. In what ratio x-axis divide the line segment which joining 

the point A(3, 5)  and point  B(5, 4)   

 (a) 4:5                (b) 5:4              (c) 5:7           (d) 6:5 

  

9. The equation of the line passing through the point (-4,1) 
and gradient is 5, is  

 (a) y=5x+21  (b) y=5x-21  

 (c) 5y=x+21  (d) 5y=x-21  

10. If the lines x 3y 8 0    and  ax 12y 5 0    are 

perpendicular, then the value of a is   

 (a) 0               (b) 1               (c) 4                  (d) –4  

11. Find the angle between the lines 2y 12x 9 0    and  

3y x 7 0      

 (a) 30º          (b) 45º   (c) 60º  (d) 
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12. P(3,5),Q(4,5) and R (4,6)  are three points. Find the 

angle between PQ and PR  

 (a)30º              (b) 45º        (c) 60º      (d) 90º 

13. P (2,3), Q( 3,7) and R( 1, 3)    are the vertex of a 

 PQR. Find the equation of median PM.  

 (a) x-y+10=0   (b) x-4y-10=0  

 (c) x-4y +10=0   (e) None of these  

14. The equation of the straight line passing through the 

point  (1,1)  and perpendicular to line  3x 4y 5 0    is   

 (a) 3x+4y-7=0  (b) 3x+4y+k=0  

 (c) 4x-3y-1=0  (d) 4x-3y+1=0  

15. The equations of sides PQ,QR,RS  and SP of a 

quadrilateral are x 2y 3,x 1,x 3y 4,      and 

5x y 12 0    respectively. Find the angle between the 

diagonal PR and QS.  

 (a) 30º              (b) 45º               (c) 60º           (d) 90º  
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Test Your Skills 

A(a,0) P(x, y) a x 2y ?

(a) 2ax               (b) 4ax         (c) 6ax          (d) 8ax  

(x, y) (a b, b a)  (a b,a b) 

bx ?

(a) 
2a y   (b) 

2ay   

(c) ay  (d) 
2 2a y  

 

P( 4,a) Q(2,a 4) PQ

” ( 1, 4) a

(a) 0             (b) 2           (c) –2                   (d) 3  

P(2,3),Q(5,a) R(6,7) a

(a) 5/2          (b) – 4/3           (c) 6                (d) 5  

x  ( 6, 5) 

(a) y 5    (b) x=-6 

(b) y= –5 x  (d) y= –6x –5  

y  (2, 5)

(a) x=2  (b) y=–5  
(c) y=2x  (d) x=–5y  

PQR P( 1,0) Q(5, 2)

(4,0) R

(a) (8, -2)                                 (b) 8,2)  
(c) (-8,2)                                  (d) (-8,-2)  
  

A(3, 5) B(5, 4) x

(a) 4:5                (b) 5:4              (c) 5:7           (d) 6:5 
  

( 4,1)

(a) y=5x+21  (b) y=5x-21  
(c) 5y=x+21  (d) 5y=x-21  

a x 3y 8 0  

ax 12y 5 0  

(a) 0               (b) 1               (c) 4                  (d) –4  
  

” 2y 12x 9 0  

3y x 7 0  

(a) 30º  (b) 45º  

(c) 60º  (d) 
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P(3,5),Q(4,5) R (4,6) PQ

PR

(a)30º              (b) 45º        (c) 60º      (d) 90º 

PQR P(2,3),Q( 3,7) R( 1, 3) 

PM

(a) x-y+10=0   (b) x-4y-10=0  

(c) x-4y +10=0   (e)  

(1,1) 3x 4y 5 0  

(a) 3x+4y-7=0  (b) 3x+4y+k=0  
(c) 4x-3y-1=0  (d) 4x-3y+1=0  
  

PQ,QR,RS SP

” x 2y 3,x 1,x 3y 4,5x y 12 0       

PR QS

(a) 30º              (b) 45º               (c) 60º              (d) 90º  
 

 

 

…..All The Best 
  

 
 

 


